Bracket for PowerStop®

PowerStop™

ABV A rEmuoBTSTuk

w3t & CAD Download

=
o NO—ZANYTFEIDIFAT ST vk
S o MERDNAETUTERILNT, e - EBAORY DN TE
9,
g
_ o & -t EIF O roHs2as
ABV
55400
wiE BBV ILAVF
I T_I';f B mm
ERINT—R DS
RE 1 M W Hh T F F C L R H2(g)
2 TAPS| = P.493 [APR] = P.501 e
ABV-M6-0.5-A M6%0.5 25 (16 | 81255 |7 |9 55|55 M6-05 24
ABV-M8-0.75-A  M8x0.75 | 32 (18 | 9 12 | 55 105 | 9 | 55 | 55 |M8-0.75 M8 -0.75 38
ABV-M8-1-A M8x1 32 189 12| 55 (105 | 9 | 55 | 55 |M8-1 M8 -1 38
ABV-M10-1-A M10x1 32 18 9 12| 55 105 | 9 | 55 | 55 |[M10-1 M10-1 35
ABV-M12-1-A M12x1 38 (26 12 116 | 8 |11 |14 | 85 | 85 |M12-1 M12-1 70
ABV-M14-1-A M14X1 38 29 13 16 | 8 11 |14 | 85 | 82 |M14-1 M14 -1 77
ABV-M14-1.5-A  |M14x15 | 38 (29 (13 (16 | 8 |11 |14 85 82 |M14-15 M14-15 77
ABV-M20-1.5-A  M20x1.5 | 65 (34 17 25 [11 215 (19 [125 [12.5 |M20-1.5-M20-1.5L M20- 1.5 263
ABV-M25-1.5-A  M25x1.5 | 65 (40 20 25 [11 215 |19 [125 125 |M25-1.5-M25-1.5L M25-1.5 292
ABV-M27-1.5-A  |M27x15 | 69 |46 (23 |25 |11 |235 [19 125 125 M27-1.5 M27-1.5 407
ABV-M27-3-A M27%3 69 46 (23 125 11 235 |19 [125 [125 |M27-3 M27 -3 407
ABV-M33-1.5-A  M33x1.5 | 75 |50 25 25 [11 265 (19 125 125 |M33-1.5-M33-1.5L M33-1.5 421
ABV-M45-1.5-A  |M45x1.5 [100 |66 |33 32 (15 |35 |26 17.5 165 |M45-1.5-M45-1.5L M45-1.5 907
o BHIEE x @ umupww
\
<
fi&lE A I TR eI —~ABENEDEL IS
NBIK sgirsvoas \, » 0575-23-1162 5% » info@nbk1560.com I ) https://www.nbk1560.com

BEYiR—bk

By avITIV-N

514



